§3

/

dot Pmdud’

{a,b,c) -(x,a&,i&) = ax +\oa,'rc.z
(a'z“af b’f +c-|;> ¢ (x?+3?+ zm = 01"53*‘62

W = same as V.Lwv
GCY\C('QH)/,
VoW = 19l 1wl cos®

wheve 0 15 the an3l6

between V and W.

The collection of (x,%,z-) e p3
SaTiSQ)/;na
a(x-v) +\o(_’3—s> re(z-t)=0

s a P'\ome con‘t'aim'ns

{a,b,c)

A\
”norvv\ql vector

(r.5,t) and perpendicular
to <o,b,c>.

<a,\o,c> is the normal
vector  for  the plane. O:a(x-r)+b(13—s)+c(2_t)



I§ (a,b,c)#(0,0,0),

+then the collection 09

(3‘:‘3.%>€ & sa‘risgyinﬂ
ax+\o18+¢;_¢ =d

s a P\ane.

Sometimes we write vectors os  columns.

(1 ) (Q) (@)= (2)

V3

Dot PY‘oAucT 3

() (f;) = ax+\98

(a,%,¢) (

f-

J\Z) -z ax 1'\93,1-(,2




